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SECTION -A
compulsory They carry 1 markeach

e lenoth ol a smooth curue r = g (y), c <y <d

t.
2.

3.

the I rst 4 qleslions are

F nd the deavalive ol y

F nd lhe va ue ol r(r).
Wrile lhe lormula ior lh

evaruate J JJo' ay oz

SEC]ION B

Answerany 8 queslons irom ano.g the queslons 5lo 14

=0 ther showthalllxJ = 0 a1

5. L'oPss l]'Ilc. -3c.i r. d..'eD(ooo-|o o' -7. q . ds a op"n tF

6. llr s continuous on {a, bla r band i

7 Evaluale l-.'.i3+4^'

8. sro* rrar 
-14 

converoes Lo L

E^ore-sl.e nleor" Ii".1 r o""," t-L.clondndhen(e rrd sraLa

jrlxlox
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sheel and ts secl on by

12

13.

10.

11.

0-<l<2tr,oithecrceoi
oj lhe suriace swept out by

SECTON C

Answer any 4 questions irom among tlie queslions 15 to 20. These quesl o.s

r5. Find Jxsinrxdx.

r6 Evarlare j,' e': dx

I 7. Find lhe su rlace area 01 the solid general€d by revo ul on ol the curr/e
y = 2l{, 1 <x <2 abourthe r-atis.

18. Find lhe area oilhe rogion n ihe pane enclosed by the cardio d

1 9. Evaluale JJ 
e"'"'dy dx where R is the semic rcular region boLnded by lhe

x-axis anithe curve y = !/] *

20. Evaruate J J It (y-2x)'?dy dx.

rf9

Write lhe equaton ol the hyperboloid ot one

Find lhe volume ol lhe so id generaled by revolv

V-a(s and lhecutoe { =:,1!y a4 aboulV-a. s
v

Using llre paranrelrizalo. x = cosl, y = 1 + sift
radius 1 cenlered atthe point (0, 1),I nd the arca
revo vin9llre circle about x-axis.

Eva uaLe I I f d7 dv d^.

lhc reoio. between lh.-c



ll it 1 llllfllllll K20U 0309

SECT ON D

Answer a ny two queslions lrom 2l to 24 These questions cary 6 marks each.

22 PolerhirBlu ,r=Ml1"l ,., o
r{u+v)

2j ro F"aoo Lrora".a4\ O \'

24 Fnd the vollne oi lhe region D encosed by the surla.eZ = x2 + 3y2 and
z=a x2 , \'2.


